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Hu: WRSFEHHZZLUFUHARFAX H(BELNANL/NALEZAI)
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ASX N 43,602,297 42,832,297 770,000

= 2,793,200 2,433,200 360,000

z 21,943,000 21,943,000 0

s 503,000 165,000 338,000

= 18,363,097 18,291,097 72,000

WHEFNS YRS LTI 0 X & 43,318,397 42,548,397 770,000

=BTV EET-Y

= 2,793,200 2,433,200 360,000

= 21,943,000 21,943,000 0

s 503,000 165,000 338,000

= 18,079,197 18,007,197 72,000

TTORQINE 3,265,200 3,095,200 170,000

= 1,700,000 1,500,000 200,000

z 327,000 327,000 0

= 1,238,200 1,268,200 30,000

OISO DULEENHEHZZCOIKC 1,820,000 1,950,000 130,000

= 1,400,000 1,500,000 100,000

= 420,000 450,000 30,000

403 XHXI A S XH2 01 & 1,820,000 1,950,000 130,000

= 1,400,000 1,500,000 100,000

= 420,000 450,000 30,000

01 RIXSH =SS 1,820,000 1,950,000 130,000
DS ENYSESHYTHZ

2% 1,820,000,0008 1,820,000 1,950,000 130,000

= 1,400,000 1,500,000 100,000

= 420,000 450,000 30,000

2ESACIRQIAI AL 300,000 0 300,000

= 300,000 0 300,000

308 X+l EHHI SO & 300,000 0 300,000

= 300,000 0 300,000

01 RSB A BES 300,000 0 300,000

(= ESACIRQIAIE ALY 300,000 0 300,000

= 300,000 0 300,000

=AEZMHA 36,894,800 36,284,800 610,000

= 160,000 0 160,000

z 21,616,000 21,616,000 0

= 15,118,800 14,668,800 450,000

CEBTYWTHAILNA 160,000 0 160,000

160,000 0 160,000

403 Xt XI A S XH2 01 & 160,000 0 160,000

= 160,000 0 160,000

01 REXISHHI X2 2 & 160,000 0 160,000

(-2 ZAUFTLAILNA ALY 160,000 0 160,000

= 160,000 0 160,000

SENEEEIESIPNIEPEE-Y 450,000 0 450,000
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403 XX SHH S K2 0| A 450,000 0 450,000
01 XFXISHHIXH2 2 & 450,000 0 450,000
mERTI =TSPV 450,000 0 450,000
Soz ISRy YREA 1,086,000 1,096,000 ~10,000
SO DHFAMS 58,000 68,000 10,000
307 212+0| A 35,000 45,000 10,000
05 I2t9IEt 2 5,000 15,000 A10,000
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2= 5,000,000 5,000 15,000 ~10,000
SENANFYHTH 273,316 278,316 5,000
2 59,200 59,200 0
= 214,116 219,116 A5,000
NEETPPN-T-Y- 29,692 34,602 A5,000
307 212H0| | 0 5,000 A5,000
05 Q12913 0 5,000 5,000
OXIJHEA S 201 & 5] (K 42 0 5,000 A5,000
HOXAESHHNTE 1,695,841 1,690,841 5,000
2 874,000 874,000 0
= 503,000 165,000 338,000
= 318,841 651,841 333,000
N2l HEA A S 185,841 495,841 A310,000
207 S PN LB 0 300,000 300,000
02 Z AL H] 0 300,000 300,000
(8N COBY BANE KR AI A 7= (F o
2) 0 300,000 300,000
307 212H0| | 0 10,000 10,000
05 DI29IEt 2 0 10,000 A10,000
CSKHAXI 2l B2 A A A SRS (M 2) 0 10,000 10,000
CREEAMDAABSASAINM 27,000 50,000 £23,000
= 25,000 25,000 0
= 2,000 25,000 23,000
207 1 PN LB 27,000 50,000 23,000
s 25,000 25,000 0
= 2,000 25,000 23,000
02 Z AL H] 27,000 50,000 £23,000
EREEARLAALSHS AT M
2 27,000,000 27,000 50,000 ~23,000
= 25,000 25,000 0
= 2,000 25,000 23,000
MEAZRHANEHAER DS YS! 338,000 0 338,000
= 338,000 0 338,000
201 Yut2 | 10,000 0 10,000
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SNBSS - MBAY - BES 01l &4 24 pJE-1 {imE=Eh

s 10,000 0 10,000
01 AtR 22l 10,000 0 10,000
Deet=3l 10,000 0 10,000
OMFAZEE2FAASUHLEES 2 WSL3S 10,000 0 10,000
s 10,000 0 10,000
308 AHXIHHMSOI A 328,000 0 328,000
£ 328,000 0 328,000
01 HXHHBLEEXS 328,000 0 328,000
OMFASEFRAAHNSUHAEZ W25 328,000 0 328,000
= 328,000 0 328,000




